o

(‘\Xhen was “Tiger Project’ started in India? 8
) 1 March, 1972 (B) 1 March, 1973
(C) I.April. 1973 (D) I April, 1972
WA § A g @ gy @) @7
(A) 1 wrd, 1972 (B) 1 urd, 1973
(CLA &=, 1973 (D) | 3w, 1972

2 Name 'lhe river flowing through Bikaner district -
(A) None of the river(B) Kantli
(C) Mantha (D) Ghagghar

i’\'ﬁﬁr_hﬂtﬁwﬁaﬁ%aﬁhaﬁmm%—
(K) @ i (B) wiaeh
(C) 5= " (D) ==t 9

3 Kwashiorkor is usually observed among children
in the age range of -
(A) 610 years (B) <1 year
(C) 1-4 vears (D) 4—6 years '
wﬂm‘rmft-mqt!aﬁﬁwaﬂamﬁm'

k-
(A) 610 af -(.B(; 1 ad
(C) 1 -4 =d (D) 4 -6 i |
4 In which fort is the Sheela Devi Temple located?
(A) Kumbhagarh (B) Amer
(C) Achalgarh (D) Mehrangarh
Rrer 3dr @ sfet few fea 4 &7
(A) F™ITe (By” 3mit
(C) awTe (D) FFUATE
5§  Value of V16129.is -
V16129 @ wm ® -
(Ar 127 (B) 117
(C) 133 (D) 123
6 Which language (dialect) is spoken in Bundi and
Kota area?
(A) Brij (B) Bagri
(C) Mewati (D) Hadauti
27 va @ & A A A d k7
(A) 77 (B) amTe
(C) #ad. (D) et
industry?
(A) Morels (B) Black mold
(C) Yeast (D) Mushroom
afen Tam § A BaF 1 TR o b7
(A) arte (B) =1% =
(Or 4= (D) wgEH

(B8

IVVP | ={}=.

A wire is in the form of a circle of radius 9.8 i
wire. What 1S the

A square is formed out of the
q 15 forme f the squafc?

approximate length of a side ©

(A) 156 cm (B) ;:g :::

(C) 152 ¢ (D) 1>% €
éﬁ)arlzos‘g‘rhﬁm#iﬂ*mwmwwé
Qﬁaﬁqmwﬁl'ﬁaﬁqﬁwﬂwm
F k7

(A) 156 @ (B) 148 A

(C) 152 & (D154 R

Which one of the following types of medicine are

used for treating indigestion? B
(A) Antiseptic (B) Antibiotic
(D) Antacid

(C) Analgesic .
et A o v o g o & P A A
a7

(A) i (B) wfrdeh

(C) drererft (Y- waH e

Agni dance is performed by the men folk of which

sect ol Rajasthan?

(A) Bishnoi Sect

(B) Dadupanth

(C) Jasnathi Siddha Sect

(D) Ramsnehi Sect

e % R wwEr & wle geut &ra it 3
E1610 ¥

(A) Fag=ii avema (Y zgug

(C) @@ o gward (D) ol JWIE

\@/"inual and enlarged image of an object can be

obtained by :
(A) Concave lens (B) Convex mirror

{C) Concave mirror (D) Plane mirror
fpdl arg & ammed 3 faffa wisfee ora fem @
wHal *

Ngaw F9 &
(C) rgam zdw &1y

(B) Tw4 =zdw zro
(D) @wam =dwr zro

Which of the following fungus is used in bakin&lkfé/‘ws"“’as Swaroopam® (Statue of Belief) is statue

of .
(A) Lord Shiva
(C) Lord Krishna

(B) Lord Ram
(D) Lord Vishnu

Tasam ==’ ) wfeEr )
(Af wrar fira (B) A 1™
(C) wram o (D) A famy
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34

l.\@Jv‘!“!‘ﬁariﬁ the famous

Who among the following Folk-Gods is also related
lo snakes?

(A) Gogaji (B) Ramdeyvji

(C) Pabuji (D) Mallinathji
FreTffas 3 & aee deiaa wid @ W1 HEfig ¥ 7
(A) Ty (B) meah

(Q wigah (D) weresh

Three numbers are in the ratio of 2:3: { nd their
average is 39, then the smallest numhfr- 5 -

?ﬁ‘ﬂﬂw“'§4iﬁmq%ﬂmﬁ;ﬂ@qﬂ 9%

A HEd S g

(A) 52 B) 13 ki)

(& 26 o "
' = =

@ In =~.h|L|1 one of the following EI\.I|IZH1IL‘!IH bricks

uerv.': hot used in making houses and colonies?
{A) Ganeshwar {3) Nuh (&j‘

(C) Kalibangan (D) Pilibanga —_°
ﬁqhﬁaﬂﬂ'ﬁ'mtﬂwmﬁ-mqﬁﬁ%mm
¥ 32 w1 w4 Sy o 7

(A) TAsIT (B) ¢

(C) Feiram (1) dwiram :

“*Baadla” of _Tndh{ll{j?

N
N
LM

(A) Pomcha

(B) Wood Temple
(C) Water container made of zinc
(DY Zari Saree

Mgy @ wiEE aEer f#qﬁawiiﬂ:'

(AT T

(B) & @ wRT L

(C) =& § a1 T & U

(D) =1dr a2 N
N

Who is the first woman Director Géneral of
National Council of Applied Economit/Research

-y

of India? ~
(A) Shobhana Bhartia —]
(B) Poonam Gupta —1

{C) Renu Sud Karnad
(D) Shyamala Gopinath
WTTH % A9 FIGE HIE TEEE @A) fd 2

f

qEdT Afken kTR eE e 87 i &Y
(A) st et Gy
(B) T wﬁ g
(C) ¥ 7= 13 iy

—i

(D) sgmaen MdE

Ve ob

38

|

Gy

41

42

. R 2
II'ItIr"} is a factor of x” + kv™ =2x-24, then

the value of kis-

afs - kxe = 20 =24 B UF PTES (x-2) #, 4
ke AE k-

(A) =S (B) 2

(C) -2 (s

Trench Commission was formed in the context of
which peasant movement?

(A) Bundi Movement

(B} Begu Movement

(C) Bijolia Maovement O

(13} Alwar Movemenl ¢

fen faum a=ieaa & 5o 4 29 wEm w e
T oWt =

(A) 7o am=ies

(B) a7 3=t

(C) [eiifar s

(D) AT AT
Ornaments of “Tarkashi® are famous of which
place?

(A} Lidaipur (B) Nathdwara

(C) Chittorgarh (1)) Barmer

AR F WA (F1) T e F wikw ¥
(A) =91 (B) ammam

(C) Fafzme (D) areiT

Who was appointed as the Rajpramukh of Greater
Rajasthan?

(A} Maharawal Laxman Singh

(B) Maharaja Sawai Man Singh

(C) Maharaja Bhupal Singh

(I Maharawal Chandea Singh

U T BT T Frga T o g
(A} werimam wesmifie,

B e ward oo

(C) wEnrm i

(D) W aefiin

Rinkii sells g table of costing price ¥ 840 1o Sonu
?;:i;'l"“ & profit of 10% and Sonu sells it to
final Al loss ol 59, then what would be the
i '“-””‘IL prlu. ol the table?!
ff‘ VR gy g wredl dege #1100 B A L
AT b 4y A g A @ St @ el T AT

| S
(A) I; WY famy ye @ B 7
Lo T 87780
() 2 798 SN 871

(D) T 83780
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51 Go through the following poem and answer the F@

52

IVVP | o

question given below :
O Rose thou art sick.
The invisible worm,
That flies in the night
in the howling storm :
Has found out thy bed
Of crimson joy;
And his dark secrel love
Does thy life destroy.

According to the poet. the main idea of the poem
is A

(A) The beauty of the Rose is immoral.
(B) The poet praises the secret lbve of the worm.,
(C) Wicked people win the hartle,

(@) Innocent are helpless, they suffer and give up
their life.

The diameter of a sphere is 0.7 cm. From a water
tank, 3000 spheres completely filled with water is
thrown out. The volume of the water thrown out

.
is {wheren=-‘i?g-)

(A) 430 cm? BT 539 cm?
(C) 530 em? (D) 439 em?

U T 1 A 0.7 W & | UF e A 2 8 3000
A ol ®Y @ WTHT A G FET W B A et

i

ﬁﬁlﬁarﬁmﬁlﬁmm?%(mhz?) (@J

(B) 539 wr &
(D) 439 g+ a4

(A) 430 =9 79
(C) 530 == &1

Which of the following is the first conl based
electricity generating power plant of Rajasthan?

(A) Suratgarh Thermal Power Plant
(B) Kota Super Thermal Power Plant
(Cy Chhabra Thermal Power Plant
(D) Kalisindh Thermal Power Plant
e W @ FE AT & UE &g s e |
TaTEA WU B T

(A) yramg ani Fl U
(B) @z gy amda e

A
th

®

(C) w321 ardry &Af w4
(D) ity arim Fal §u=

‘s pot view option'in PowerPoint?
el

w view

Which on
(A) Slide sho

(B) Outline view
(C) Narmal Ve
(D) glide sorter \ff“'
(A) wEs A

o o faweq T R 7

Second highest peak of Aravali is —
?fig Tﬁfﬂglz‘lrh (B) Gurushikhar
(C) Sergarh (D) Achalgarh
Sradl 1 gEd wan SO A -

(A) TTUmE (B) ety
L0y wOTS (D) ¥HawTE

@’ What is rank of India in 'Climate Change

Performance Index (CCPI) 2023
(A) o (B) 6"
(C) Th (D) 8t
“waTy uitadd waef gua (CCPI) 2023' ¥ Wi
& Yo a3 7

(A) = (B) w1

(C) W (D) amadf

# oy g AET g6 A § wE b o
(A) WEaHS (B’f’ﬁlsmmj
(C) ®F-Uqras (D) FAraras

Who is the current chairperson of the National
Commission for Women? (As on 18" December
2022)

(A) Mrs. Rekha Sharma

(B) Mamta Sharma

(C) Lalitha Kumaramangalam

(D) Dr. Girija Vyas

Ty sfEe amdm # g orms @ ¥ 7 (18 Fanar
2022 & arAm)

(A) drdt T gt

(B) wran gmi

Hemang Jaiswal of Rajasthan is player of

(A) Weight Lifting  (B) Kabaddi

(C) Judo (D) Boxing

UMM & A ArHas % flaend) %)
(A) wriree (B) #afy

(C) _Iﬁjf (D) Wﬁﬁ
[ Contd...



product of Rajasthan at constant (2011-12) prices
during 2021-22 as per Economic Review 2021-
279

HIHH Tltem 2021-22 % erpEre 2021-22 § TAEH
& Rt (2011-12) Fvet or wa 19 T AT A
gha &1 5 7 477
(A) 11.04

(C) 3.2

(B) -5.2
(D) 6.04

For a light ray travelling from denser lo a rarer

. - i a 5 Vs i
medium, if angle of incidence is equal to the critical | 39

angle, then the angle of refraction is ;

WHA @ e quam 4 o e 9t Yy FouE
T & ford M4 = @, wifas o & g A

®, 99 IR ww oA b

(A) 18071a (B) 0°

(C) 45° (D) 90"

90
Which of the following is not correctly matched?
(A) Right to Constitutional Remedies : Article 12
(B) Protection of Diserimination : Article 13
(C) Right to Association @ Article 19

(L Right to Protection of Life @ Article 20
fe=iEg 0 ¥ F4-" wé gEieg a9 22

(A) wawbrs Fyard 1 Ak o areds 32

(B) W=WE & guen ;o HjosE 15

(C) wa & Fmtw #1 sftwre @ aress 19

(D} oirE= &1 T w= #Fe o agws 20

During whose reign did the Kishangarh style
receive an independent form?

(A) Raja Samant Singh

(I3) Raja Kishan Singh

(C) Raja Jagimal 92
(D) Raja Roop Singh

fored sma @rm o fBerns S w1 wE wmey ary
gan?

(A) Tram wrafiE

(B) T fwmfde

(C) = ST

(D) T wiEE

What is the smallest and largest font size availuble
in font size' toolbar on formatting toalbar?

(A1 8 and 72 (B} 6 and 68

(C) 8 and 68 (D) 6 and 72

WIS ZEA A T i MR g i gume
(A) & 37 72 (B) 6 a7 68

(C) 8 it 68 (DY 6 afg 72

IVVP |
o's 10

>

@ What was the growth rate of gross staie domestic [@ Air Marshall Shaikh Abdul Hannan was chief guest

at Graduation Parade of Flight Cadets. He is from-
(A) Iran (B) Afghanistan

(C) Bangladesh (D) Malaysia

vaT mgfe S EE FT ROEZ $52H @ A0S
T ¥ qeg sifafy d1a ¥ -

(A) gt @ (B) sFEmiTEe |

(C) aramdsr & (D) mafirar &

The next term of the given series is -
3 g Aol w1 oA 9E R -
C. E, H'. Q. ?

(A) X (B) U
(€) Vv D) W

Which of the following formula in Excel is correct
to find sum of cell Al. A2. A3 and A4?
Freafufea & @ #rm uae @ Al A2, A3 8l
A4 TR & g A & e w/h R T

(A} = sum (Al — Ad)
(B) = sum (Al to Ad)
{C) = sum (Al: Ad)

() = sum (Al . Ad)

it
7d 9 f&r =i @ wfawrd & T oo 93 F wae
A A WO W9 e A 2, W wed B —

(A) IFem=s (B) wfor=
(C) Taafa (D) Fafazr -

Which of the following blood groups is a
“Universal Donor™?

Prefafes & & avme e my uw wdear 7
() O (By A
(Cy B (D) AB

WIm-t is the optimum tlemperature and catalvst
required for Haber's process? )
(A) 300°C, Silver

{Cy 45°C. Tin (D) 150 C. Copper
?ﬁ:;&mﬁmwmahaém foba w=fi
1610 ke

(A) 300°C, fo=t
(C) 45°C. Fm

(B) 450 C, Iron

(B) 450°C, amare
(D) 150'C, ®ut
| Contd...



48  Which lake does not exist in Nagaur district?

@' Which of fillewing districts of Rﬂjﬂkﬁhﬂn is not
included in the first phase of Rajasthan Urban _ o
Infrastructure Development Project? (A) Raiwasa (B) r:"l wana
(A) Bikaner (B) Kota (C) Degana (D) Kuchaman
(C) Udaipur (D) Alwar i st & 2t o fea -y
(B) Erzar

amer & P G R B S TR T
(D) T

ey e gitarsT & g a1 i wftafera T8 ‘

fepam ® 7 (C) =

(A) HwrT (B) @l .

(C) =gyt (P et t@ State Human Rights Commission submits its annual
report Lo !

(A) Advocate General of State

@ Triplet cade. for inhibiting process of translation
| Human Rights Commission

(B) Nationa

is: aler.
argaﬂ;r&mi‘aﬂmamiamfgqﬁzm%: L
(A) UGGnio, (B) AUG (C) HighCourt
(C) UAA™™ (D) UAC (D) State Government |
@ At the 68" National Film Awards on September FraT

30. 2022 who was conferred with the Dada Saheb
Phalke Award? (A) TS Laipecaul
(A} Asha Bhosle (B) TG A furT ST &
(B) Wahceda Kehman (C) wer A 2
(C) Asha Parckh

(D) =T &R & “

(D) Lata Mangeshkar
0 T, 2022 &1 68 4 w2 few quEE F @

wrea e JreRTy @ e ek e @ In the system of equations nrs
(A) snsm '
(B) adrET wEe x4+ my+n=0 I e
(C) mgm i@ hx+myy+i, =0
(D) T ANAET -
o o A .
@ Ebony trees are found forests. # E=E:I‘ then lines represented by
(A) Mediterranean 07 T
(B) Tropical Evergreen ¢cquations are -
(C) Monsoon Deciduous (A) Intersecting (B) Parallel
(D) Conical Evergreen (C) Coincident (D) Perpendicular
TTﬂ’Ii-fTE!&T_____ﬂH:F'ﬁ'rﬂﬁﬂ‘%l i —— ;
(A) HeEETTIE
(B) TwrEfegHEd HITHETT fx+my+m=0
(C) '-F-'fﬂrfﬂ HA |'3_T + Y AN, = 0
(D)) srpardt HETEE 4o
@ Choose th¢' svords which are nearly opposite i 7 fs ;_I="£L’l a1 wdiaTm
meaning ta the underlined words | e h My My AT i
Opaque ¥ =
(A) Transparent (B) Cloudy (Ap-wfaatdy
1) Magy ) (B) wmr=T
: (D) Blurred :
(C) #9rdi (D) T

IVVP ]
als ; |
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The Jaswant Thada af Jodhpur was built by
(A} Maharaja Jaswant Singh 11

(B) Maharajs Sardar Singh :l
1€y Mabaraja lanuwant Singh

(D) Maharaja Limmed Singh (
MU T WG we) @ ey |
(A) wzrmm ety iy
(BY merirm wtanian \
(C) R weqa=aing
(1) grmen =i

— E‘EI'WTQTH
|

J
The highest peak in the Castern Ghat is \
{AY Gurushikhar (BY Anumudi '
(L) Dodabeta (I Malendragiri
T4 Tz ¥ weted fonar b -

(A) Flmar () ammE |I
(C) == ([ wE=2fhit |
Cheose from the options given below one word |
tor - |
someone who walks i sleep
(A) Jermogan (1) Philogvnist
(C) Somnambulisi {1y Recluse
Frefatem & 8 g e o swds fea =0 agir e
T R
,_._Aa/in: TIEYT A5 AT 1
(B) BT amy o 2 '
(Cy - wrel 01 o by (

(13) ®ir" w2\ T R r.-
The name ol artisan associated with blue pottery |
- Jaipur 15 :

(A} Abrar Ahmed (1) Rajesh Godha
(Cy Anuradha Jangid (D) Narotam Jangid

s UET - AT # WA forerir w1 ko |
(A) AT AR (Ry Twas mm {
(C) AN HAWTE () s

Where is Maharaja Shree Ummaid Mills located
in Rajasthan 7
(A} Jaisalmer

(13) Jodhpur

(C) Pali (I} Jaipur
serrra A i fomr g F w7 fgg & 7
(A) FEET (13) =gt
(C) urd (1) =]t

-0

81

ciree Kalraj Mishra is governor of
A i

Rajasthan. _

[.""i'll 4_1”1 {H} quh

(€ 4ot L

iy fow, AR H @ TATE 4
(A) A4 (B) 39

(Cy 40 (D) 41

Copiplete the sentence by uh:_w-:lsing the correcl
F;Iq-msiiinn from the choices given below -
What's the time your watch?

(AY by WRT in T

() at (D) on'li

{,Jn_j 30t October, 2022 a pethditrian :-Ilhpﬂ'rl‘tﬁil.'ll't
bridge collapsed in the ciy of Morbi in Gujarat,
trwas built an which river?

li_;j';, Khar (B) Rupen

(Gy Machchhu (D) Sabarmati

30 wazAT, 2022 F A B TS RS 0 A4
ueEyl4 g a6 T, T few Ad we aEmn o e
Ay arh (B =9

ey =2y (D) wraTs

{1 Mday exposition of Haly Kapilvastu Relics of
Cotd Buddha was orpanised by Government of
[ihia in -

{A) S l.anka {B) Malaysia

Sy Thaland ADY Mongolia

WA T F TEd i ama @ 1| P
wEoAl &1 HETAA WA WEETT AT TR T e
(A) F547 o (B) waism o

qu] TS W (D) wmieen ¥

(@)

dhe high grade coal is -

!_ﬁ; Peat (By Anthrocite
() Bituminous (D) Lignite
S A A wiger b

tA} Bz (13} T
(C) Ferzfrmm (D) frmarge

II"-

d i
5.q\'|1lcll vear Desert Development Program was
aunched?

PRy fawm wien P6s ad o wey fea o7
(A} 198185 (B) 1977-78
(C) 198081 (D) 200102

—
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National Games were organised in @ In the CD-R tvpe of CD. data can be

Ahmedabad. (A) Only written once
(A) 37th (B) 34 (B)y Only read once
(C)y 3sth (1)) 36 (C) Written once. read many times
AW § Ty g & A fam T (D) Written many times, read once
(A) 374 (B) 343 CD-R whrt @ (D 9 ma |
(C) 359 (D) 36% (A) oy ot foren 1 2
(B) firh e ATy wE W AE 2
s B0 C]ﬂﬁﬂnw&r,qa%inmmfammxmt
61  When the liguid is spun rapidly. the denser particles ( :

: A » b S - 2 A famr @ @6
remain 1o {_I*lg}hnuum and the lighter particles stay (D) firh % AT 9. W f
at the top'~This principle is used in - - L
(A) Fil p’-'"‘ RS f@ Rays moving parallel to the principal axis of a
i Hiratsn E el . .

SRR o B convex lens after refraction passes through
(By Centrifubation : :
(C) T l,..qjl Bl (A) Centre of curvalure
; -ruc.[t{)lll.!.. distillation (B) Principal focus
(D) Evaporation (Cy Undeviated
a faeh z@® dA ¢ guian Sk, @ w5 A (D) Optical cenire .
ﬁmﬁ?ﬁ:jﬁmﬁ'ﬁ?lwh‘m;mmnm gm-ﬂa%mmmgaﬁaﬁﬂmrﬁﬁﬁﬁﬁ
A B - N HYEAT F usdr qATH ¥
{(A) Preer o (A) = H= 4
(B) e & (B) e HEH |
) -Hﬁ%ﬁi?r-%maﬂﬁ (C) Wﬂmﬁ
(D) mu:ra:ﬁ:ﬂ? El (D) waifirs &= 4

- &
o T : The Malpura-Karauli Plain is the part of -
62 = q‘?'” W A A T AT - {A) Banas Hasin (B) Luni Basm

(A) Gﬁ'ﬁ[ﬁ\] (- et (C) Chambal Basin (D) Mahi Basin

TR FE T R
(A) mam afmm & (B) G Al @
(C) waa afgm & (D) A @

(C) =i, (1) =T

63 Which of tlre, following bluod groups is universal
recipient? —
frefafan §_8 -1 @9 T0 arddifs o 27 |69 The purpose of run command in start menu is to-

ulf AB' 3y OF (A) Open Svstem Lock
(©) O- (D) AR 1 (B) Launch Internet Browser

(C) Stan Progroams

@ Which ufh'.r'lu: following climate regions in “J! i'-.uur‘;._'h '”tc.
Rn_iasl!mn':_n.-}ei\ s lowest annual rainfall? R 93] 8 r.'{ WS e ¥ -

T (A) Tem wim me

T | R Fedrg sl § 8 S s w

aift AT wT # (B) 2zt arrat asen @

(A) Aw (B) BShw 4€Y T e

() ['.wg'_: (D) BWhw (D) wiga qam
gl

70 Which day 15 celebrated as "Natwnal Unity Day’
(Rashtriva EXta Disas) in India? ‘
(A) 8" October (15T Lanuan
(C) A" December (D) 31Y October
Fp Faa ) wreet o arsdta v fraw & sy 6w

65 Choose an appropriate translation for the sentence
given :
She ,,-m,-c.j‘? oney for a rainy day,
(A m;}ﬁ’m % foan 4% qam)
(B) T Fifter & fo 88 am

(AH8 wFET A (B) 1S waad) @)

(D) T8 F6 & W F amm
. } (Cy 4 P F (D) 31 W |\

IVVP .:“:.’
] 2 |
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94 If 5™ January 2020 was Sunday. then what will be | 99 When an error of 1% is made 'in the length of a

the day on 24M January 20227 square. then approximate percentage error in the
(A) Wednesday (B) Sunday arés {-,;' that square will be - .
(C) Monday (D) Tuesday o o o e A 1% B et &, @ 39 @ & dAwd
ﬁswﬁzumﬂltﬁmm.a‘rymmzz ﬁﬂﬁaﬂrmﬂﬁ!mw'ﬁ”
H BEE B A |
-
(A) Fuam (B) faam (A) 4% (B) E”“
($o7 HTHATT (D) WreET ©) 1% (D) 2%

95 Jaundice is a condition in which accumulation of
occurs  in hload.

(A) albumin (I3) elobulin

100 mwﬁﬂﬂﬁﬁﬂ&ﬁmmg-mt?
(A) ®Z - ®elt (B) fr=1 — @iy

(C) hemaglobin (D) bilirubin () gon - g7 (D) wE - A
o e ¥ P e A 4 o
Hag & A 101 The median and mean of 15, 17, 16,7, 10, 12, 14,
f ) 9, 12 spectively -
(A) uegiE (13) S 16, 19, 12 and 16 are respectivel
(C) Frsriifam (D} Frsivefam 15,17, 16, 7, 10, 12, 14,16, 19, 12 @ 16 &l
= ftas T wmg wEa b -
9% F=iofiaa & & faw fawes 8 ot s afrars (A) 15,16 (B) 16, 18
LEL ™ (C) 16, 14 (PY15, 14
(A) 7, drem, 4, Ay
(1) ==, g, =, B 102 Frefafag § & Fmer o gogge &7
(C¥ waafy, ged, ateh =5, Wiy (A) Fram (B}
(D) =, a1, my, TAEm (C) arEmm (D) ®w=

@ i'rabha Atre (Padma Vibhushan Awardee 2022} is 103 ‘fawmin’ s & fomy wéi ofrd or @ wim?

related to which field? (A) Disorder (R) Discrepancy
{A) Indian Classical Music {C)} Discretion (D) Dismiss
(B) Sports

(C) Space Technology @ Find the odd one out :

(I3) Social Work (A) C++

vt 3 (99 fgeor grere fadan 2022) frw g @ (B) ORACLE

AT E7 ' (C) MYSOQL

(A) wrtdrg seiE | (D) MS ACCESS

(B) @w Fom =ff

(C) afEfre wrdifmsr (A) FH+ (C++)

(D) = & (B) 3it#m (ORACLE)

(C) = arf ma g ow (MYSQL)
@ Name the Pratihar ruler who not only checked the D
advance of Arabs but also liberated several rulers (D) wa oW v (Ms ACCESS)

from their voke.

(A) Nagabhatt II (B) Nagabhatt [ 105 If the length of a shadow cast by a pole is 3
(C) Deoraj (D) Vatsaraj ) times Ilhe length of the pole, thén the angle of
36 WiAE 9TEE W AW gy Fres | Faw o & clevation of the sun is - )

M GE T gy Tl afen o T & 396 af: O @% grn e mé ot Y s wd & e
HTEJWHiﬂﬂﬂﬁﬁﬂmi @ V3 Tt @ g w e A b

(A) vz faag (B) swraE w4H (A) 90° LHT";G“

(C) F=m (D) & (C) a5 (D) 60°

IVVP | b 1 [ Contd..



23 Which of the following statemenls is not true
recgarding: Rajasthan State Human Rights |
Commission?
(A) The chairperson and other members are
appointed by Governor.
(B) It is a multi member body consisting of a
chairperson and 1wo other members.
{C) The chairperson should be a retired justice of
Supreme Court, , |
(D) Other members ol State Human Righls
Commission can be a serving or retired judge
or magistrate of High Court or District Court.
Fefefad & & w1 m s e T i
IO & AT 0 wh FE R 7
(A) s 9 o=y vzl @ Prgfa nedc aro @
B
(B) 9% s 7% wewEy Fream & e oeaa g 21 o
GE AL
(C) wtae Teaan =mared &1 Gaiiga =
Eram R
(D) = w=rg 55 gEEm yua fam Ay &
qrardisT wgaEr gfee f auEr i #)

Which of the following string instrument is alse
known as " Bhen™™?

(A) Pungi {[}) Bankiya

(C) Bhungal (13} Mashok

f=fvlaa & & f5e am oz & W M s AT R T
(A) 1 (13) =ifwEm

(C) 1frr:-5/ ([}) ="ars

Which fort is sitwated on the confluence of
Gumbhirt and Berach rivers?

{A) Ramhambhore Fon

(B} Kumbhalgarh Fort

{C) Tadgarh Fort

(D) Chittorgarh Forl

il A F=E At & v 9T FEe P
(A) TUmfT fFe

(B) Fwems faen

(C) #reve fawen

(D) fadr=me PEar

L= M means L is the brother of Al
L= N omeans L ois the son af M

L =M means L is the wife of M.

L= N means 1 is the father of M.
then which of the following means R is 1
of 1! it '

o &

26

i mother

|2?

‘23

29

@Lﬁ

31

L=Mat o 1, M= wif 3 32

L=Mar s LM &gy
L=Man ot 1, M 1 gsh 2
LM aryd L, M g fip 3
a Fefag 5 3 frrm 3y a"m; R

{"“:I [':_Al'u‘ '! l
(C) R=A+8§x7 ﬁﬂ ;:j,q

IVVP | =‘L"|=.

T % ar b 7
S+
A-S4+ T

o be drawn into a

L " brass is 1
cubic dm of br: then the

cliridri i cm in diameter,
cylindrical wire of 0.5 em in d

length of the wire 1S -

{AY 448 m {(g; ff:dmm
(Cy 112 m 22 i
’:m%ﬁrlﬂﬁmﬁraﬁu.&nﬁr_mﬁww
E{. I ﬂm%.a?mﬂﬁmﬁ

\)! 448 o (B) 56 1

4 (D) 224

[
@"H:rﬁ
Y

th's pond eco system.
= . A

(&) Small fishes
(¢r! Zooplankton
ey O rhias a4 |, '@h

food chain starts with -
(B) Phytoplankton

(D) Aquatic insccfsﬂ
sprzen wTees B B -

(A) TrE HEel # (B) 9EED q
() Fqeas # Py @Y wLF
on

Tha similarity between Li and Mg 1s due 1o —
(AY, Inselubility of lhcfr_hydroxides

(B), Similar ionic potential

), High electropositive nature

éD]I’ Similarity in the charge of their ions

7 a7 Mg & §= quea &1 a9 & -

A) TTH EESIHETTS] B g

é!ﬁf 7O wEtrE fare

¢} e frg e Wl

TTH NG & A 0 wEEAl

When the post of Lokayukta was ¢stablished in
Rajasthan? G

M A FIHE B 9T FT gha gén
(A) 1973 (B) 1992
(©) 1912 (D) 1982

B -
Which one of the followi i &

Mich ng himes js the seas ]
fe realing monsoon? il
(A) Februany to mid June
(8) October 1o mid December
C) December o Februan
{:!H :Tu! .f_un:r- th September
et a1 31 @ oy HITH A T

Rkl SRCHERE R ‘
L-A}_, wEan g guy g ek k
(B orat 8 way frapegy

Eg.:' froerr i wrady
b TR 0 e

\T'-Tf"ﬂ'ut s the name of
i [ b '."' lh . . 'l Icl
ahtained from l.'i'nclmn:t':. N ek
tAY Ouinime .
Y () i
i{ :_ Cmchomme {13 “:t::ri!rl:c
frr= H U e I )
,,\jm;—.\-.: T WA A vy A A |
o (B)y o
) Tt B Famifos

LY
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13 Chaose the correct Hindi translation of the
following word from the given options ;

Domicile certificate
(A) 59 womm ux

(B) 77 oy o

(C) amam wam g
(EJ,} A e gamr o

@Tmc slope of the Iincjnin{ng A3, 7)and B(-2, 1}

|

15 -
g 43, 7) am B (-2, 1) =) -
S ) & e T e m
I 1
TR F
(A) T (B) %ﬂ
6
i, 1

15 Which of the following converts source program
into object program?

(A) Anti Viros (By ALU

(C) Control Unit (D) Asscmbler

T § W w A e A st v

@

v

CErn I e
(A) U2 G (B) ALU
(C) F=im gfe (). ¥

16 Punit gnés West, he turns left, then lefi, again left

and thén right and finaly goes right. In which

direction he is moving?
(A) West (B) North
(C) South (1)) Last

Qe ofyem @1 @it g ¥, 9€ Tl S s b, e
arfll s wm AT T A S g ar = ot od
39 7 =T AT AW ¥ 9s e o A o &7
(A) dleam (R) =@t
©y =fem (D) &

Valodymyr Zelenskyy is President of -
(A) Ukraine (B) Russia
(Cy Portugal (D) Spain
aeilfafrT srtept Trzufa ¥

(A (B) ¥ &
(C) gdmE & (D) &1 &

IVVP] b

D

22

ssembly Sumitra Singh was

clative A _
e oman Speaker in the State

vhich Le& :
Llllu:oseu as the first W
of R:Jjasthan'.‘
(A) Thirteent
{(C) Eleventh

(3) Tenth
(D) Twellth
A & gEeT Atee g W

pran R, YA T B D
Egmhﬁlfa“mmnﬂﬁrﬁ
(A) el (B} E'H?ﬂﬁ_
(C) arEd (D FroR

@/f\ member of the State Public Service Commission

be removed by the @ 57 | ‘
President on the basis of tﬁupcachmum in
Parlinment.

Governor. after the inqu_tirl?jwconductcd by
High Court.

President. after the inquiry conducted by the
Supreme Courl.

Governor on the basis of impeachment in the
Legislative Assembly.

T W HA AT & 6T A TR § ORI
wEA ¥

(A) €Az % SR W F deq WEuid & &
(B) TAaUH & B0 Fe Y & Hig & A
(C) Tz % BT HaleT rde & W oA
(D) faud @ & wwftm weaig & T2 T w2

may
(A)

(B)
(C)

®

Which of the following is a non-impact printer?
(A) Laser (B} Daisy wheel

{C} Dot matrix {D) Drum

¥ H wA W UF -39 fifey %7

(T (B) TN &

(C) =iz dfywg (D) 3u

;h-:qv-'n-;md of which tree is used (0 make ecricket
NS’

(A) Mango
(C) Willow
5 3 2 wedy
Frar w57
(A) @

() famt
::_h;'a:‘](ig"l: T}‘Iul:ti-prod-ucl '%Lf Been established
S R“j{l\lllan?Ln aboration “”.I] _ll"lt"ldlllﬂlll'ﬂ Group
{r\] -Tﬂipur

(F} Kota

T wfeey

(Y Acacia
(D) Teak
w1 I9UI fFET H awn 7 & B

(B) =ya
(D) &%

(B) Neemrana
fD_} Jhalawar
9 % Hedi § UAEH § &8l 95391

f;r% e 2 7
(C) :;q? (B) e
’ (1) semars
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107

Twang sector is situated in -
(A) Unrakhand

(B) Arunachal Pradesh

(C) Assum

(D) Sikkim

Tam 9 fam 3
(A) @™ |
(B) smuimas wis §
(C) amm o
(D) Fafem & g
1o - ; O)
[Fin AABC wid A DEF, A2 8C 164 3

DE EF =fD 5
then their arcas are in the ratio - i

AB_BC st 3

—

A ABC am A DEF 9 afy

_ DE  EF _(r-]u i
A TFH AFAE A AT B R
. N
{A) 3:5 (PBr 925 3N
(C) 16:25 (D) 5:3 O

@Accnrdmgto the India State of Forest Report 2019,

109

110 Choose the correct Hindi translation afsthe word
given below : ks
Registration (g__\"

(A) Frama (B) firagr I:f"j
(S)"ﬁﬁrm (D) wfe <
i

IVVP ] ok |

=]

the state (Not Union Territory) h:u'iril{lnwesl
percentage of forest cover is -

(A) Untar Pradesh (B) Punjab
(C) Rajasthan (D) Haryana

L

sfoem w2 ame wee NYE 2010 & g
(& gnigT Wiyl AE) FEi aq 6= w5 whaeE C =Tad

t ar k-

(A) TTT Weye (B) w¥mE j
(C) Ty « (D) =framm L

A bag contains T 5. ¥ 2, and T | coins in the ratio
5:6:7. If the total amount is < 220, then r]?'i]ﬂ‘lbl?f of
2 coins in the bag is -
wh B W 5:6:7F e A 5,32, ud 1 H fon
g bl g T 220, G AR T2k
forerent & wET 7 - | =
(B30 —

(A) 120
©) 35 (D) 60 ~

11

112

113

114

Which activity is not related with the Draught
Prone Arens Programme in Kajasthan?

(A) Poverty remuval .

(B) Soil and moisture conservation

(C) Water resources development

D) Afforestation
TﬁTHlT'{ : 1 i e T A g e
o AR B

eXT i frarcn

(B) gt @ 74t &1 @0@9 HO

(D) ganmw

In mer"f_m{nl. two kind of so_und effect files that
can be added to the presentation arc -

(A) gpg and .gil’ liles

(B) .wav and .nid files

(C) .wav and pif files

(D) .wav and jpg files
qrETETEE W 31 A7F & d16E g
ERIGED I _

(A) .jpg 3 pifl wrEe

(B) .wav @ .mid w3

(C) .wav 9 pgif WIEE

(D) .wav 9 jpy =6

L

T

Hrzd WL H FEl

Which of the following exhibits non-metallic
properties?

|
Fretferfre 8 & & @ enenfeas o7 waffa &t ¥ 7
(A} Mo (B) Al °
(C) Be (D) grey Sn

Study the following Pie-chart and answer the
question - s

- = g amera @ A 1 P _ged @ e ¥ -

By F

&

A = Paper (@)

B = Advertisement ()
C = Binding (mzf=n)

D = Printing (gzm)

[ = Royalty (trres)

F = Miscelluncous (Fafu)

(Expenditare chart)

(@d aré)

How much percent more is spent on advertisement
than that on hinding?

arzfEn # arden fasmed w fraem wides s ad
fEm &7
(A} 10
(C) 9
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127 Which one of the following agency undertook the
excavation work of Kalibangun?

(A) Melbourne University of Australia

(B) The Rajasthan Department of Archaeology
and Musecums, Jaipur

(C) The Archacological Survey of India, New
Delhi

(D) Deccan College, Pune

ﬁﬁﬁ!hﬁﬁﬁ%ﬁﬁ;ﬁmﬁmﬁmﬂim
T & ITnTETaE g 7

(A) Werar favafaemem, arigfra
oBf T YA wd wwwwa P, s
(C) wrtedra e wdem, 78 femdl

(D) Fwmacaictw, qat
. 128 Which allotrope of carbon is in the form of the
geodesic dome?
(A) Carbon Nanotube (B) CGraphile
{C) Diamond (D) Fullerene
FEA H FAE HUET AR e A ey
Tam i
(A) =Ha 3w (B) w3
(© 3R (D) FEiE
129 Which program helps the user to view different
web sites on the internet?
(A Search engine
(B) System program
(C) Server program
(D) Browser program
9 | 9w gEt & fEre W fat wen @t 9w
HIEZH T 4 REE A &0
(A) &F 37
(B) foaem wmm
(C) wdt W
(D), @t wrT
130 A sum of money doubles itself with simple interest
rate in 12 years. In how many years would it treble
itself?
(A) 36 vears (B) 18 years
(C) 24 years (D) 30 years
aft o gt 12 3§ e s o o @ g
B ol B, A A 0l e ot fah g g
(A) 36 =i (B) 18 7
) 24 (D) 30§ ,
G]hj Iy Ct'li
e ] &b a >
-4

n=ey

131 Change the following sentence from the active
voice to the passive voice.
We expect good news.
(A) Good news was expected.
(BY Good news is expected.
(C) Good news should be expected.
(D) Good news must be expected.

132 Complete the following figure series :

frafufaa sty e ® gl Ff

NETE3
K IH]'

133 Who ameng the following was nomimated as a
representative of Rajasthan in the Constituent
Assembly of India in 19467
(A) Mohanlal Sukhadia
{B) Vijay Singh Pathik
(C} livraj Narayvan Mehta
() Heeralal Shastri
fr=ffiaa o & e lquqmaﬁaﬁmﬁqﬁ
w1 H T & lataiy % =y 8 gAEE e a7
(A) wTEseTA Hasa
(B) famatae sibs
(C) fragr =g vea |
JBY e e |

(A)

134 If log,(x+1)=2. then the value of x is ;
214 log, (x+1)=2, 7@ x & = =

(A) 4 (B) 0
(€) 2 (D) 3

135 ‘grfe-goft’ s@—gm & ad ad & 9 i -
(A) 9 - T (B) wdm - Tfx
(C) 34 - @&l (D) 9%z - §m

136 Through which of the following districts of
Rajasthan, the tropic of cancer pa:-:srs'.‘
(A) Jhalawar (B) lJalore
(C) Sirohi (D) Banswara .
Fretifed 5 8 Toam & @9-3 e A e 75 T
At &7
(A) FITeTaETS

(B) =T
(C) farré T

(D) sterarsT

14 [ Contd...



@ The centre or activities of Govind Giri in 19]]
and 1912 wag
(A) Khedy H. Idar
(C) Sunth !

(D) Bedasa
fﬁfaarw&aﬁmnﬁfhﬁ:dfmh 1911 wg 1912 %
Ll
(A) @

: (B) §=
(C) #Hu (D) Fgwn

6 IT ‘'CLOCK" is coded as *34235° and 'TIME" ag

"8679° then what will be the code for ¢ K
12 5 ! wh : for ‘MOLEK™?
% "CLOCK” @1 *34235" airy TIME' %1 *8679°
Ffed B wm@, & MOoLEK: & M0 g Far vy
(A) 62495 (B) 72945 24 9
(L) 72495 (D) 62945 7
@ ‘Pengan
rivers?
(A) Mahnnadi
(C) Kaveri

ga’ is a tributary of which of the following

{B) Krishnp
(D} Godavari

Y fervafaftaa i O 5 forea weras wd) 47
(A) wEmdt (B) g
(C) =y (D)

118 Fill in the blank with one of the correet oplions
from the options given below.

It's time they working on the project.
(Adwould starl (B) slarted
(C) start

(D) will

In normal conditions the number of WBC in
comparison to RBC in blood is

(A) changes now and then

(B) equal

(C) morc

(D) less. T
AT T ° S BT wTHIa 3 T, we e
BRI B oA °

(A) TA-qq FFwal T b
(B) =2t 7l &

(C) ara gt &

(D) @ wdl &

Objective of ‘Mukhyamantri Laghu Udhyog
Protsahan Yojana® is @ -
{(A) Reduncing u::unm:nic Incq_l.lal!tlL‘s
(I3) Establishment ol enlerprises N
(C) Providing new employment opportunities
(D) Both Establishment of enterprises and
Providing new employment opportunities
W A G e urmmvf T iﬁl_az%?:r T
(A) TiiE smErdrs @& wen
(B) T9wAl o w19 H .
(C) 4 T/ SEHT IUeTed BTl
Tl @) W FT T A O S
TUFE AT A

ivvr ] b

120

121 A geostationary m:lf:liilu .r"""-“l;".ﬁ_.;'ppr“-"i'“ﬂh'.‘ly
at what height and in which pline
(A) 306,000 m, palar |1_f_;u|1c "
(B) 36,000 m, equatorid P .|r!u. ‘
(C) 36,000 km, uqumurml plane

D) 36,000 km, polar |1I:||1-:‘ |
lq&)\“l—ﬁu'{ auqre won fEn S v 9 e o o

vy e B 7
(Kg_'*_m_unn i,y @
(B ) 36,000 W1, e
(V' 36,000 fad), yEegid o
LD¥ 36,000 fE, gt
'L-‘_{

122 The Heading in a letter consists o
(&) The subseription il
(O Saliation
£y, The writer's address and the date
I:Hl-, The reference

123 “The Adaptation Gap Report 2022 is published

by~

(A1 BRICS

(B) World Bank

(C) United Nations Environment Program

(M World Leonomic Forum

‘wMrEe T e 2022° #1 vl b -

(&) Peiil

+B) fysa 45

(€) wg# % gafam wmmiEy

(ng faya anftfes wa

4

124 Choose the correct direct speech of the following
deence from the options given below :
H&ordered them 1o loek the door

(@) He said 1o them, “Lock the door

[Ll}'lJ e said 1o them, “Please lock the door.™

(,[__‘.;1 He told them. *yon locked the door.™
[tlll He tells them, *Lock the door.™
125 Gailes which code for a pair of contrasting traits
are Likllm\n s -
{A f‘-‘lnm'-hyhrid (B) alleles
gﬂ; I gencralion (D) Genotype
AT & e W w oy Il
A ¥ ' o
(A) U W
e (B) mefret
(CH T dridy e

(D) s greg

@ I}“| !

unell square is yge

(A) ('iun]f.'[ius ed
{(‘J} B'in-F.'.'nlulinn
TR 91 8 e fapgay
(A) e
(C) N fagmg

in the study of ;

(3) Cell Biology
(1)) Photosvnthesis
AU T A7

(B) wifsra shafase
(D) wasr-gyeram
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137 Fill in the correct anticle,

He is not ___ honourable man,
(A) no article (B an
(C) the (D) a

i 3
138 If smu--‘:. then cost is -

; ]
s sin u‘—-E. T Ccos L H OHE #——

47 |
(;&‘,J/T (B) - _
. 3

{C) 'E_ {Mm e

139 In which vear Chandrayaan - T was launched by
India?
fag ad o wra A g=um - | ulg o ?
(A) 2010 By 2007
(C) 2008 (1) 2009

140 How many times President Rule was implemented
in Rajasthan?
T 5 fa w trgafa seea s e o
(A) 8 (B) 2
AC) 7 (D) 4

141 The sum of first S0 natural numbers is —
guw SO WA TR w1 A E -

(A) 1525 (B) 1000
(C)y 1200 (D)A1275

L]
The famous Pushkar Fairis held in which month
of the Hindu«Calendar?
{A) Chaitra (B) Sawan
(C) Falgun (D) Karik
T & uftrs gEt b feg v @ fem e

@

e 7
(A) 24 (B) wraA
(C) ®IF (D) =id® ,!-l

143 ‘geaart’ 7= A FE E -
(A) T (B) @darE

WE‘F (D) &=
IVVP | gp

@

L]

@

146

148

149

150

The Panchayati Raj system i{l Rﬂj‘ﬂ&ith_;llr.]‘ '.Is',as
inaugurated under which of the following live yvear
plans?
(A) Fourth Firt
() Second (Dy Third . .
T W dATad) T AR gﬂanimq—.mﬁa

dirren ¥ oftd fwdn Tl oL

(B) First

() fadm (D) g

low many characters are supported by ASCI-7

cading system? ‘ olEs -
-7 (ASCI-T) ®fEm f{rml_ﬂ“ﬁj{ﬂ FIgIH

fd 7
{(A) 256 (B) 356
(Cy 128 (D) 312FTE

Presently. the number of Municipal Corporation
in Rajasthan are :

e T A T P g e b
(A) 10 () 6

el (Dy 9

An eye defect *Astigmatism’ occurs when :

(A) the cornea is not spherical in shape.

(B) the image of an object is focussed at a point
behind retina.

the image of an ohject is focussed at a point
before retina.

(13) the eye lens hecomes cloudy.

gitzam giedaa 8 T A R 9

(A) & &1 s g T e

(3 h’ﬂﬂmﬂ"m ?ﬁaﬁm% CILAE ] Fﬂq{
EEIAE BT F )

173?51‘EI1§_',[ #1 i gftzvem & am fad fag
07 REERT RAT R

A4 wH s @ an k

(C)

()
(D)

A wmE F arEn wmy wen o § i
BT
XA Wiz i ) aE e
(B) =m e effea @y
(C) == 4 e &7 mrd
(D) & 2 A\ Fouw o “
2
Total number -:rl'{im_m Panchayats in Kajasthan is:
TN | A gl & ge wer b

(A) 13.443 (B) 10,890
(C) 12,560 +Br 11283
genfuer sr o aedt Wiy ¢
(A Tamd wify

(B) 7 5y

(C) gfx =iy (D) 99 =y
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